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Answers pg 349 #3,4,6,9

4a) 32.74km b) 0.003922g
32.7km 0.00392g

c) 107.51s
       108s

3a) 7.65 3SD

b) 20.2m/s 3 SD

c) 50.0cm 3SD

d) 0.084 2SD

1

1 3 SD is the fewest 
conversion factors do not 
count towards SD

8. a) area = base x height
        area = 100.0m x 12m
     area (calculator answer) = 1200m2

  area (correct SD) = 1200m2

b) area= base x height
 area = 8.23cm  x 0.68cm
area (calculator answer) = 5.5964cm2

   area (correct SD) = 5.6cm2
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or 25km/h   x    1km/h   =  6.94 
                        3.6m/s
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